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   )4(ا��&��$ 
�2	�1ا  �42 0# /. ()- ,+ أ()�م ا�&��&� إ$#ادي   •

  .و�2	�1ة
                   5و$#د ا��2	�1ات /.  2إذا ��7�� $#د ا��1�,6 /.      

  . 35/�(>-  أ;:9
  ��)-  ؟آــ- $#د ا��1�,6  و آــ- $#د ا��2	�1ات �>1ا ا
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  -
)��A:� ا�	)� ى ,�) �� إ�? ,�2- ,���,# ,	� ; ; )O I J   

012و  =−− yx     -���(	� ��ه. ,��د(D) .  
0242و =+− xy   -���(	� ��ه. ,��د( )∆ .  
)  و   (D) أCDA ا�	)���	�+   1) )∆ .  
(2  �
�#د إ�#ا��E. ا���E  +�	���(	�ا F����(D) و( )∆ . 
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    Nو �K�M ي (�$� ,)�ح $2? ;���+ ,+ ا�	��$#  •

 L�M�1آ�ة ا� +	EM   1آ�ة  20ه� +	Eو �	دره
 .دره	� 15ه   MN�Lا�

,��#ا و أن         550إذا 2$	P  أن ا���$� ��K ي 2$?          
  .  9250$�# اU,�6ء ا�2S. ���2$� ه   0R	��.ا�	#Q ل ا

/	� ه  $#د ,��$# آــ� ;�L  ؟     
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��2 ا�SDــ�  �(, ���#�
>� �)�وي   �K,220 m .  

 F���إ�? � �>� ا ��و أ�7 LM��7>� ا�$ +, ���  إذا ��

  �<
�K, 9:;200أ m .  

 /	� ه	�  إذن ��#ا هZ1 ا�K#���  ؟ 
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U �	ر� F7]#ة   نو��� �	\ أو�>�6/. �%  .A�&�وا �� ��

  . ا^ول ,&2[ ا�&�A.  ل�� �� و ا���	� %���8]#ة  
  .دره	� a19500	 ع ا���]#ة  ��# ��� �2_ ,

  ,� ه  ,:2_ آــ� ر�	�ل  ؟       
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,+ ا��� c�2K�	� ��K ي      �K�15% ي ,)K ق 2$?      

  . K(,34% ق �Eن 2$?  
                    e�2&آ ]��E ق K(, ?2$ ل MK2� ن�) K(	�ج اg	� Lآ�

520 g    ?2$ ي �K� ؟ %20و  c�2K�ا +,  
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